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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer any seven questions from the
following : 1x7=T7

TS TR R Aot e TEl T ¢

{a) Define ‘evel of significance’.

et Y Al Wil |

(b) Explain ‘confidence interval’.

RISy ST o |
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() When using ‘sign’ test, if two scores (i By, reducing the oxperimental, etror,

are tied, then{Choose the correct option) local control increases the _____ of
. s the design. (Fill in the blank)

ISP T 29 IS FRA G =,
b (o Searsy 71 Bevea) wﬁ’mﬁmﬁwmm%ﬁmﬁﬁ
i oo _ 3@ S
(i) we count them e} 512

i e ! ( il
(i) we discard them (g9 Compared to Parametric methods, the

ol non-parametric methods :

(Choose the correct option)
(iii) it depends upon the scores
PG AR TS T-elieidS F TR

3@ A PO @5ae [T T *
: A (v Tewco! AR Tlasd)
(iv) None of the above

@oq e T (i) are less accurate :

T AT

(d) ANOVA is a statistical method of

comparing the of several (ii) are less efficient
populations. (Fill in the blank) 3 TH
0 SRR ! targ ANOVA | (i) are computationally easier
fe) Define null hypothesis (iv) (i) and (iti) are correct but not (i)
fe emmm e fa (i) S (iii) = T (i) TR
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()

)

(4)(B)

If AB< = then the association

between two attributes A and B is
(Choose the correct option)

ﬂﬁAB«@NLB—) oY, (OCT oI @ A

B3 TR TEF T (9T e IR Baear)

@G O
0
(i) positive
SO
(iij) symmetric
e
(iv) negative
YT

The probability of type II error when
a =005 is (Choose the correct option)

o= 0-05-7 IR Fo «ew B Tekior

W 27 (s% Tewch R Tfed)
() 0025

i) 0-05

(i) 095

(iv) Cannot be determined without
more information

g O 7L WE Sfeedl T A=A
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0)

(k)

()

Define one-tailed test.

-5z R PR et Wl

Level of significance is denoted by |
(Choose the correct option)

stefrel B et f ==
(o5 TeCo! AR Tleen)
) o
(i) v
(i) P
(iv) None of the above
(8%1TT «be )
Write down the hypothesis that is tested
iti CRD.
ojef o AR SSTeTHT AT RN
iR forall |

Answer any four questions from the

following :

‘ 2x4=8

ware WMAIERA Rz 5if<6 ok Te faal ¢

(@)

Distinguish between type I error and
type 1I error.

A E Be om Sie Jem o4 |
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(b)

(c)

(d)

(e)

(9)

(v

Define critical region.

T g 6ol @l |

Explain sign test for symmetry.

e crae BT ASTHIE! TrH T

Write down the uses of analysis of
variance.

wqﬁmﬂm;w%&m

Under what situation will you prefer
RBD over CRD?

mﬂwﬁﬁﬁmmﬁmwﬁwﬂw
o 2o SeFRE SalifEr fral e

What do you mean by simple and
composite hypotheses ?

e S g o I 7 e

State the assumptions of non-
parametric test.

S-2ipeTIE SRR SfSaRereE ot

A

What do you mean by Yates’s
correction ?

BT v s & 3@t
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Answer any three questions from the
following : 5x3=15

wH® WAEAIE Aol folb s et 341 3

(@) Discuss the principal steps in testing a
statistical hypothesis.

AR eww ST s AT
A w4 |

(h) A random sample of 400 units from a
large consignment showed that 120 were
damaged. Find (i) 95%, and (ii) 99%
confidence limits for proportion of
damaged units in the consignment.

@I @B g TR S R 40001 (oSS
<51 o el 12061 wall ¢oiial 2T | S
@il G SANeS (i) 95%, HiE (ii) 99%
o T FefT =10

(c) Write a note on the basic principles of
experimental design.

sl SR R Afemzs [am b
(it fora | |

(d) What are the conditions necessary while
applying 22 test for goodness of fit?

wPiEEE (g 72 A wEice & & 6 R
5o wieal 2
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fe) Describe how the goodness of fit can

be tested by using 2% statistic.

2 oo il LT TG (S| A
TR AR 3 01

In a randomised block design, there
are 5 treatments and 4 blocks. Explain
the principle of randomisation of
treatments in these blocks.

o 4 SO 1S 56 TP T 451
o Rl TeprETR ffen e AR
TEIS P 4|

For a 2x2 contingency table

G2 2x2 GBI AT AR

alb
cld

(9)

show that '(CW’J}G%T @)

i N (ad - be)?
2 “l+b)c+d)(b+d)(a+c)

where (¥¥) N=a+b+c+d.
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|
|

(h) An experiment was conducted to test 5
treatments A, B, C, D and E in 4
randomised blocks. Write down the
analysis of variance table.

4% 6 <l T SRS B 5T TopR
A, B, C, DSI% E 71wl 39 (2> T &7
fRrsrEel AR w4

Answer any three questions from the
following : 10x3=30

wore AARR et fofs! emm Bel ol ¢

(@) (i) Fill in the blanks of the following

table : o
woTs T TR AT SRR o3 1 ¢
Source d.f. Sum of squares Mean squares F
B remwa ¥ @ www  F
A 4 g, S
B 2. — = —
Brror (@&F) - 0137 —
Total () 14

(i) What is randomised block design ?

State its advantages. 5
e Yo sfems 52 TR FRUTR
T |
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(b)

(c)

(@)

(e)

Discuss the analysis of variance of two-

‘way classified data.

- Row v wpRday Reaa G STo!
B 4 |

Derive Wilcoxon two-sample test.

! @l A Wilcoxon #ASTIcs 366 11 |

Write down the mathematical model of
completely randomised design (CRD).
Mention its advantages and
disadvantages. 2+4+4=10

Ao e SIS R 3 M ool
forat ) syl apfors oo ARG o
SERETIRS Rara i

What are the advantages and
drawbacks of non-parametric methods

over parametric methods ? 5+5=10
e RSO U-2UBTRE ~wfoq FR4! S

SRR [ e

() What is analysis of variance ?
What are the basic assumptions
associated with it ? 2+3=5

PRI R e TR oo wivs I
SfSHRAPTZ [ &2
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(9)

()
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(i) Set up an analysis of variance
table for one-way classified data.

- 5
G- Reiftres eome Rovse o
G O 9 |

(i) What do you understand by local
control in design of experiment ?
What way does it increase the
efficiency of an experimental
design ? 2+3=5
el eSS ZE e 3 @
@i 2 ARG 4974 ST vl
TGRS I AT (I 2

(i) Write a note on experimental error.

5
9 @6 [REw vt fran

Let p be the probability that a coin will
fall head in a single toss in order to

3

1 i
test H, : p=~2— against Hl:p=z :

The coin is tossed 5 times and Hy is

rejected if more than 3 heads are
obtained. Find the probability of
type-I error and power of the test.
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@I TS p= 9 (AR FWIe T© H : p=%

3 Hl:p-—-% S eIl iR A | @6t 5

AT ool F91 2 wiF 10 3 IS @RI
S (AR W H,F Saigy 11 29| cofen 2@

type—1 THBI IR B STICoR Tl Fefer
9 |
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